N & ol & A S E A A
2009HE = 3 3 BHIZALSHI
SN BASCD
B 200 Mol
B 210 FYHA ALY
8 216 01Xl (9l &3l
RN 0] & o p[E-L HIRE2
ES A 16,086,810 16,117,810 A 31,000
gE =51 16,086,810 16,117,810 A 31,000
200 M2l+¢ 3,998,310 3,927,310 71,000
210 2 EMe = 224,395 249,999 A 25,604
216 Ol At==¢ 124,395 149,999 A25,604
216-01 ZBUIZ0IXH 4 110,430 149,999 239,569
O3Z30= 0lA==& 110,430 149,999 A 39,569
216-03 JIEFOI Xt =) 13,965 0 13,965
OJIEF Ol Rt==& 13,965 0 13,965
220 LA EA 2 = 3,773,915 3,677,311 96,604
204 M3 3,167,713 3,096,713 71,000
22403 JIEtelH &Y= 3,167,713 3,096,713 71,000
OgetalH 8= 3,167,713 3,096,713 71,000
227 RE€= 75,604 50,000 25,604
227-02 LBt E 3 75,604 50,000 25,604
Odt==% JX FE= 75,604 50,000 25,604
2X3 12,088,500 12,190,500 A 102,000
520 AI,EHIEXZES 1,139,500 1,241,500 A 102,000
521 Al - SHIEEZE 1,139,500 1,241,500 102,000
521-01 Al - SHIE XSS 1,139,500 1,241,500 A 102,000
OJIEtet=Hel 3 & (5H) 6,000 14,500 /8,500
OJIEtot=Hel & &XI(&I1) 11,500 20,000 /8,500
OJ|Etot=Hel & &EXI(CHA) 12,000 26,000 A 14,000
OJIEtot=HMel & AXI(AA) 10,000 21,000 A 11,000
OJIEtot=HMel & AXI(UH) 11,000 30,000 219,000
OJ|Etot=Hel & Ex(&FHA) 22,000 25,500 23,500
OJIEtSt=Mel B (a2 St==cdXl MelAld) 300,000 337,500 A 37,500




